


All the Digits

Age 7 to 11 &%

This represents the multiplication of a 4-figure number by 3.
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The whaole calculation uses each of the digits 0 — 9 once and once only.

The 4-figure number contains three consecutive numbers, which are not in order.
The third digit is the sum of two of the consecutive numbers.

The first, third and fifth figures of the five-digit product are three consecutive
numbers, again not in order. The second and fourth digits are also consecutive
numbers.

Can you replace the stars in the calculation with figures?
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The next slide contains the answers, so make sure
you are finished before you move on!



This is the answer everyone agreed on:

5694
¥ 3




Half Time

Age Sto 11 &

When Spain played Belgium in the preliminary round of the men's hockey
competition in the 2008 Olympics, the final score was 4 — 2.

What could the half time score have been?
Can you find all the possible half time scores?
How will you make sure you don't miss any out?

In the final of the men's hockey in the 2000 Olympics, the Netherlands played Karea.
The final score was a draw; 3 — 3 and they had to take penalties.

Can you find all the possible half time scores for this match?
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Extension

* If the match between Spain & Belgium was stopped after 80 minutes
and the final score had a sum of 15 points, can you find out what all
the possible full time scores could have been?

* Don’t forget that you must consider how many points each time had
at half time — Belgium must have at least 2 points in each of your
answers, and Spain must have at least 4 points in each of your
answers! ©



